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General Instructions :
1. The question paper consists of four sections : A, B, C and D.

Section A consists of 6 questions of 1 mark each.

Section B consists of 6 questions of 2 marks each.

Section C consists of 10 questions of 3 marks each.

Section D consists of 8 questions of 4 marks each.
2. Please write the serial number of the question as per the question paper before

attempting it.
3. In questions of constructions, the drawing should be neat, clean and exactly

as per the given measurements. Use ruler and compasses only.
4.  All questions are compulsory. However, internal choices have been given in

some questions.
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Section-A (Es-31)

Question numbers 1 to 6 carry 1 mark each.

TS & 1 9 6 a% U&® WA 1 37k H el

1.

Evaluate (98)2 using suitable identity.

3fod aafdsT 1 TIM Heh (98)2 &1 HM A Shifsiyg|
Solve for x : 5% =1
x o fau s wifsw ¢ 54 =1

Find the sum of interior angles of a regular hexagon.

T HHYSHS oh SA<sh IOl T IAM T HIfSQ|

Divide : — 49x% by 7.7 x°
—49x* F 7743 @ s dfsw

In the given word ‘RECTANGLE’ which letter shows rotational symmetry of

order 2?

@ T s ‘RECTANGLE’ ® =9 @1 1R o4 gafafa %1 g g 2 swifar 22

Write the order of rotational symmetry of a square.

Tk A w1 oA shH fafEm)
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Section-B (@s-9)

Question numbers 7 to 12 carry 2 marks each.

U TS 7 ¥ 12 a% UAE WY F 2 3% Bl

7. Factorise :

y2 +y — 30

oHEE &I : y2 + y — 30
8. Simplify :
(271 x 571yt + 47t

WA sl (271 x 571)71 + 471

9. The population of a town 2 years ago was 62,500. Due to migration to cities,

it decreases every year at the rate of 4% per annum. Find its present population.

2 9 9gdd Ueh TR ki SHEEn 62,500 ot e H Yad o U, I8 B 9 4%
H e W HHA B S 2| IHR! GAHM SHEEA Fd SIS

10. Solve :
17(2 — x) — 5(x + 12) _g
1-"Tx
A HhifSE
172 — x) — 5(x + 12) _g

1-7x
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11.

12.

An exterior angle of a parallelogram is 100°. Find the angles of the parallelogram.
Th GHY wqHS 1 Wk aed ol 100° B WHiR ugHS o iUl W[ shitsy)

A letter is chosen from the letters of the word ‘ARITHMETICS’. What is the

probability that it is a consonant ?

v ‘ARITHMETICS o 1eri § ¥ Ush 31eR o1 Sl 2| Wiidehal &1 € {6 98
=S R

Section-C (@s-9)

Question numbers 13 to 22 carry 3 marks each.

UvT @ 13 9 22 9% U U F 3 AH T

13.

14.

15.

The product of two numbers is 1296. If one number is 16 times the other, find

the numbers.

q GEme &1 UHEA 1296 T AE TH F@n @i 9 16 [on ¥ a el A wifea)
Factorise :

25x% + y2 + 922 — 10xy — 6yz + 30xz

UGS HIfST

25x% + y® + 92% — 10xy — 6yz + 30xz

The dimensions of a cuboid are in the ratio of 1 : 2 : 3 and its total surface area

is 88 m2. Find the dimensions.

Tk I i famieti w1 oru 1:2: 3 IR ueul ysdig e 88 =t i ®) famnd s
HifSa|

OR (31¥ar)
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16.

17.

18.

Find the cost of plastering the inner surface of a well at T 9.50 per m?, if it

is 21 m deep and diameter of its top is 6 m.

T FU H Al waE W 9.50 T UG o WX N W W WX FAA H ARG AW
oW, If 3Rl TeUE 21 HieX R IMY =M 6 "W Bl

Find the value of :

-1 1 3
5x64 2 | 642 + 642

HE A HifST ¢

-1 1 3
5x64 2 | 642 + 642

In what time will ¥ 5400 amount to T 6773.76 at 12% per annum compounded
annually ?

fpa ¥ o 5400 ¥9F K1 U1 12 yfaed ki aifdieh & § 6773.76 TOF B S,
Safer sae aiftfes gaifsd giar @2

Naresh deposited in a bank ¥ 7500 for 6 months at the rate of 8% per annum

interest compounded quarterly. Find the amount he received after 6 months.

T A 8% wiftier =S & W 6 HEH o forw 7500 TOA w1 fpu ¥ 6 W 9] urd
YT WA FiSw, SEfe = gfa foue gefsa e ar 2

OR (31¥ar)
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19.

20.

A certain sum amounts to ¥ 2970.25 in two years at 9% per annum compounded

annually. Find the sum.

HIE AR 9% &t &N < 9 298 H 2970.25 9T & S| A @ HifSQ, Safw
= At St g =l

Divide the polynomial 8x% + 2x* + 7x% + 4x + 3 by x + 3, to get quotient and
the remainder.

qgug 8x% 4+ 2x* 4+ Tx? + 4x + 3 FH x + 39 9 AW qMN ATTHRSA I IR AT
HISTY

A steamer goes downstream from one port to another in 6 hours. It covers the
same distance in 7 hours. If the speed of the stream be 2 km/hr, find the speed

of the steamer in still water.

Teh VI 9N o 3TFHd Tk I<_08 9 §ad a<UNE d& i U 6 ¥ H T Hl
B U o Gidehel S 0 Kl 7 WS W qF hal @1 AR U ki i 2 fmAn wia s
2, @ € w fer W@ # TG s it

OR (31¥an)

The sum of the digits of a two-digit number is 15. If the number formed by
reversing the digits is less than the original number by 27, then find the

original number.

T 3fehl ! Weh T o 3l w1 AW 15 B A @A oh Bl Sl Teled W aE T
T, arddfoes WA W 27 &9 €, a odiaeh HEI A shifeig|
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21.

Construct a quadrilateral ABCD in which AB =5 cm, BC =4 cm, CD =5 cm
and diagonals BD = AC = 6.5 cm.

T =gds ABCD =t = sifSg, fsed AB = 5 9, BC = 4 @+, CD = 5 @,
R fawof BD = AC = 6.5 oM. 2

Alternative Question for visually challenged students in lieu of Q. No. 21

22.

YEH. 21 o WA W e afya famfdfat o faq defeas gv4

The present ages of A and B are in the ratio 7 : 5. Ten years later, their ages
will be in the ratio 9 : 7. Find their present ages.

A 3R B #l SdAM g &1 SAUE 7:5 Tl T I O, SAhR! Y HT A 9 : 7 BT
ITh! AAHM AP A BT

From a well-shuffled deck of 52 cards, one card is drawn at random. Find the
probability of getting :

(1) a red card

(11) a jack of black colour

(111) a face card

T =3l TE ¥ Hl TE dIY H1 TESl H U UH U hI A=A Fehren Siar @1 wifaehdn
@ Hife fom g w2

(1) TUeh <l 9l

(2) WH & T HT AW

(8) Uh TR drell gl

OR (31an)
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A die is thrown at random. Find the probability of getting :
(1) an even prime number
(11) A composite number

(111) A number not less than 4

Toh URN AGEST SVl Sl @1 WitgeRal wa wifse fR wra wemn—
(1) Tk 99 3969 §E& 2l
(2) TH 99 HE& 2

(3) 49 %A 9 Bl

Section-D (@s-%)

Question numbers 23 to 30 carry 4 marks each.

T & 23 9§ 30 9% UA® U F 4 Ak Tl

23.

24.

1
Find the square root of 2= correct to two places of decimal.

5

1 .
23 T T [WEAT F I WE TH YS TG HiS|

The outer diameter of a metallic cylindrical tube is 14 cm and thickness of the
tube is 1 cm. Find the weight of 2 m long tube if the density of the metal is
7 gm/cm?.

g T Tk Tefl o1 oEd o 14 WAl IR et i A 1 WAL g1 2 W ot el
1 IR F| Hifee afg o1g *1 wHE 7 um ufq w9 9L =/
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25.

26.

27.

28.

The difference between the compound interest and simple interest on a certain
sum of money at 10% per annum for 2 years is ¥ 500. Find the sum when the

interest is compoundedd annually.

frdt afr w 2 9d o fow 10% aiffes T 4 wohrgfs =9 3R WMRY <A &1 AR
500 T9d @1 TR S wifsw, Sefeh o arftes Hafsa g 2l

Divide 15x2 + 9x* — 2x> — 8 + 7x by (- 2 + 3x) and verify your answer.

156 + Ox?* — 262 — 8 + Tx & (— 2 + 3x) 9 9 T R M W T TAH
HifST|
OR (31an)

Find the difference between the quotient and remainder when

x® — 6x% + 11x — 6 is divided by x + 1.

B —6x2+1lx —6F x + 1 9 O IHL AFTHA I TR HI A TG IS

Divide ¥ 1380 among Raman, Rohan and Rakhi so that the amount Raman
receives, 1s 5 times as much as Rakhi’s share and is 3 times as much as Rohan’s

share.

WA, s SR el oh &= 1380 U i 3H W@ 9 fawitya i, s W st uid
el o femd @ 5 T sifus ® SR Usd & e @ 3 T efus =N

The sides of a pair of adjacent sides of a rectangle are in the ratio 3 :4. If its
diagonal is 20 cm long then find the lengths of the sides and hence, the

perimeter of the rectangle.

Tk Ed F S TH G qSneli o g W oqenell § 3:4 %1 oUW 21 AR 3Eeh
youeh foepol ot orag 20 WAL ©, Al SfFd i WSSl i oS W hITSIT QT SEehT
qiA™ it wa kit

OR (31an)
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29.

EFGH is a parallelogram. EI bisects Z/E and GdJ bisects ZG. I lies on GH and
J lies on EF. Show that :

1) EINlGJ (11) EJGI is a parallelogram

EFGH % @w=r =q4s 81 EI &9 £E &t iR GJ &0 £G H wwfgfsm s 2
fag I, GH W iR fag J, EF W feom @1 suiizy fer—

i) EIINGJ (i) EJGI % ¥amR =qes 2|

Construct a quadrilateral ABCD in which AB = BC = CD = DA = 5 cm and
ZA = 120°. What type of quadrilateral is it ?

w w9 ABCD %t To #ifsm faed AB = BC = CD = DA = 5 3. 3R ZA = 120°
21 98 foE yer w1 =qds 22

Alternative question for visually challenged students in lieu of Q. No. 29

30.

YEH. 29 o WA W gie «afuq faenifat o faq defeas ww=
The diagonals of a rectangle ABCD intersect at O. If ZBOC = 70°. Find £LODA.

T 3Fd ABCD & fawol O w ufg=se @ 81 afe ~BOC = 70° 2, 9 ZODA 3
HITST|

The following data shows the agricultural production in India during a certain
year :

frafafea oihe ww faftaq o & A wwa & e sae # @i €
Food-grain Rice Wheat Coarse Cereals Pulses
T EIEi RS el ST Tred
Production 57 76 38 19

(in million of tonnes)

3ARE (ArEl 29 W)

Draw a pie chart to represent the above data.

IPF el I WM oh faw ww gu o s=Eul
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Alternative Question for visually challenged students in lieu of Q. No. 30

YH. 30 o WHE W gie «@fya famfdal o fau defeas 934
If 4* — 41 = 24, then find the value of x.
g 4% — 4% =24 %, W x H WA TG FiSQ
OR (3tar)

The following data shows the distribution of weights (in kg.) of 50 persons :

frfafaa ore 50 =afeal o W (feaium ®) o foawor =1 s@id €

Weight (in kg.) 60—65 65—70 70-75 7580 80-85 85-90
g (feam #)

No. of persons 12 10 8 9 6 5
feRrall i HeEA

Draw a histogram for the above data.

IPPF Alwel o fau s smEa o sErEul

Alternative question for visually challenged students in lieu of Q. No. 30
YH. 30 o WHE W e «arfya famfdal o faq defeus 9w

The annual rate of growth in population of a certain city is 8%. If its present

population is 1,96,830 then what was the population three years ago ?

s fAfveaa see w1 SHEen § gfg i oaifties €U 8% T1 AE TEH! S| SHEE
1,96,830 ®, a1 3 =9 UeAd THR! SHEEN w1 efi?

000
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